uva Unline Judge

10417 Gift Exchanging

You're attending a Xmas party, every one there (excepty you, I don’t know why...) has brought a
beautiful little gift in a box. After all the gifts are collected and laid on the table, every one can choose
one to take home. You are the first one to choose, so there is a big chance for you to get the gift that
is brought by your best friend :-)

Unfortunately, you cannot see inside the gift box, but luckily, there are only 5 possible kinds of
boxes allowed in the party. We use A, B, C, D, E to represent these five kinds. You know well about
all the guests there. i.e you know the probability that each person brings each kind of box. Which box
should you take home, and what is the probability that you get the one you want?

Input

The first line of the input is a single integer ¢ (1 <t < 10), indicating the number of test cases. Each
case begins with a line containing a single integer n (1 < n < 12), indicating the number of guests.
The second line of the case contains 5 integers indicating the number of gifts of each kind. The sum of
these 5 numbers always equals to n. The following n lines each contain 5 non-negative floating numbers
(with one digit after decimal point) indicating the probabilities for him to take box A, B, C, D, E. The
sum of 5 numbers always equals to 1.0. The first guest is your best friend.

Output

For each test case, print a single character indicating the box you should choose, then a single space,
then the probability to 3 decimal places. If there are more than one best choices, print the smallest
box number.

Sample Input
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Sample Output

4 0.800
3 0.296



